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Application to close-coiled helical springs

The coils are closely wound to each other, and lie on the same axis of the
helix. The turns of this spring lie at 90 degrees to the axis of the helix.
These springs are used for heavy duty applications such as carburettors,
garage door assemblies, vies-grip pillars, etc.
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Problem

1. A closely coiled helical spring is to carry a load of 500 N. Its mean coil diameter is to be 10
times that of the wire diameter. Calculate these diameters if the maximum shear stress in the
material of the spring is to be 80 MN/m2.
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Frurnons

Problem

1. A (a) Draw neat illustrative sketches to bring about the difference between a helical coil
tension spring and helical coil compression spring.
(b) A helical coil spring is made of round steel wire 6.35 mm in diameter. The mean radius of
helix is 31.75 mm, number of complete turns, 12; the spring is close-coiled. If C = 84.36 GN/m2, find:
(i) The pull required to extend the spring by 25.4 mm, and
(ii) The stress in the wire.
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TUTIONS
Problem
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